ITE 2 worksheet 3.2.3

Network Topologies 

1. Describe the difference between a physical and logical topology.  
2. Describe an example of a Bus topology. 

3. Describe an example of a Star topology. 

4. Describe an example of an extended Star topology. 

5. The chapter lists some advantages of a Star topology. What are the advantages and disadvantages of a Start topology? Try to give 5 of each.
6. Describe an example of a Ring topology. 

7. What are the advantages and disadvantages of a Ring topology? Try to give 5 of each.

Replace the XXX with the correct term
8. The XXX topology combines more than one type of topology. When a bus line joins two hubs of different topologies, the configuration is called a star bus.

9. Describe a scenario or environment where a hybrid topology would be used. 
